t54_complfld
(TMaC2dvyUpDWUvBPkP9ZnzdSuQS6we81Jng)

October 27, 2020

Let m1_subset_1 : t=>1t=>0 be given. Let ul_struct-0 : 1= be given. Let
kl_complfld : ¢ be given. Let k2_complfld : 1=t be given. Let k8_group_1 :
t=>t=1=>1 be given. Let vl_xcmplz_ 0 : t1=0 be given. Let k15_complexl : 1=
be given. Let k3_zecmplx 0 : t=1=1 be given. Let k9_complexl : t=>1=-1 be
given. Let k2_numbers : ¢ be given. Let v2_struct.0 : t=0 be given. Let
vb_group_1 : 1=>0 be given. Let [3_algstr_0 : .=>0 be given. Let k6_algstr_0 :
t=>1=1=>1 be given. Let k5_binop_2 : t=1= be given. Let k14_complexl :
(= be given. Let v6_struct_0 : =0 be given. Let v13_algstr 0 : t=-0 be
given. Let v33_algstr_0 : t=>0 be given. Let v36_algstr_0 : t=>0 be given. Let
v3_group-1 : 1=-0 be given. Let v3_vectsp_1 : t=>0 be given. Let vb_vectsp-1 :
t=0 be given. Let v6_vectsp_1 : 1=0 be given. Let v2_rlvect_1 : =0 be
given. Let v3_rlvect_1 : 1=-0 be given. Let v4d_rlvect_1 : 1=>0 be given. Let
16_algstr_0 : t=0 be given. Let [2_algstr_0 : t=>0 be given. Let I5_algstr 0 : t=0
be given. Let l4_algstr_0 : »=0 be given. Let l4_struct_0 : t=>0 be given. Let
[3_struct_0 : t=-0 be given. Assume the following.

VX0.(vl-xemple0 X0)=(VX1.(vl_xemple 0 X1)=(k15_complexl
(k3_zemplz 0 X0 X1) = k9_complexl (k15_complexl X0) (k15_complexl
X1))

(1)
Assume the following.
VX0.VX1.(ml_subset_1 X0 k2_numbers)A\(ml_subset_1 @)
X1 k2_numbers))=(k9_complexl X0 X1 = k3_xemple 0 X0 X1)

Assume the following.

VX0.VX1VX2.(((—v2_struct_0 X0)A((v5_group_1
XO0)A(I13-algstr_0 X0)))A((ml_subset-1 X1 (ul_struct_0 X0))A(
ml_subset_1 X2 (ul_struct_0 X0))))=(k8_group_1 X0 X1 X2 = k6_algstr_0
X0 X1 X2)

(3)

Assume the following.

VX0.VX1.((vl_zemplz 0 X0)A(vlxemple 0 X1))=( (@)
k5_binop2 X0 X1 = k3_xcmplz_ 0 X0 X1)



Assume the following.

VvX0.(ml_subset 1 X0 (ul_struct_0 k1_compl fld))=(k2_compl fid (5)
X0 = kl4_complexl X0)

Assume the following.
VX0.(vlzemple0 X0)=(k15_complexl X0 = kl4_complexl X0) (6)

Assume the following.

VX0VX1VX2VX3.((vl_zempla 0 X0)A
((v1_zemple 0 X1)A((m1_subset 1 X2 (ul_struct 0 k1_complfid))A (1)
(ml_subset_-1 X3 (ul_struct0 kl_complfld)))))=(((X2 = X0)A(X3 =
X1))=(k6-algstr0 kl_complfld X2 X3 = k5_binop2 X0 X1))

Assume the following.

(—v6_struct_0 k1_compl fld)A((v13_algstr_0 k1_compl fld)A((
v33_algstr_0 k1_compl fld)A((v36_algstr 0 k1_compl fld)A((v3_group-1
kE1_compl fld)A((v5-group-1 k1_compl fld)A((v3_vectsp-1 k1_compl fld)A
((v5_vectsp-1 kl_compl fld)A((v6_vectsp-1 k1_compl fld)A((v2-rlvect_1

k1_compl fld)A((v3-rlvect_1 k1_compl fld)A(vd_rivect_1 k1_complfld)))))))))))
(8)
Assume the following.

(—v2_struct 0 k1_compl fld)A(v36_algstr 0 k1_compl fld) (9)

Assume the following.
VXO0.(I6-algstr 0 X0)=((12-algstr_0 X0)A(I5_algstr_0 X0)) (10)

Assume the following.
VX0.(I5-algstr-0 X0)=((l4-algstr-0 X0)A(l4_struct_0 X0)) (11)

Assume the following.
VXO0.(l4-algstr 0 X0)=((I3-struct_-0 X0)A(I13_algstr_0 X0)) (12)

Assume the following.

VX0.VX1.VX2.((I13_algstr 0 X0)A((ml_subset_1
X1 (ul_struct-0 X0))A(ml_subset-1 X2 (ul_struct-0 X0))))=(ml_subset_1
(k6-algstr 0 X0 X1 X2) (ul_struct_0 X0))
(13)
Assume the following.

VX0.(ml_subset 1 X0 (ul_struct_0 k1_complfld))=-(ml_subset_1

(k2_compl fld X0) (ul_struct_ 0 k1_complfid)) (14)



Assume the following.
(v36_algstr_0 k1_compl fld)A(16_algstr 0 k1_compl fld) (15)
Assume the following.
VX0.(vl_xemple 0 X0)=(ml_subset_1 (k15_complexl X0) k2_numbers)
Assume the following.
VX0.(vl_xzemplz 0 X0)=(vl_xemple 0 (k14_complexl X0)) (17)

Assume the following.

VX0.VX1.((vlzemplz 0 X0)A(vlxzemple 0 X1))=(

k3_xemplz 0 X0 X1 = k3_zempla 0 X1 X0) (18)
Assume the following.
VX0.(m1_subset-1 X0 (ul_struct_-0 k1_complfid))=(vl_xemplz_0 (19)

X0)
Theorem 1

VX0.(ml_subset_1 X0 (ul_struct-0 k1_complfld))=(VX1.
(ml_subset-1 X1 (ul_struct0 kl_complfid))=-(k2_complfld (k8_group-1
kl-complfld X0 X1) = k8_group_1 kl_complfld (k2_complfld X0) (k2_complfid
X1))



